
№1 #83770 

Решите неравенство 

1 
10811 (212+1> + юва <Ё+1) 2 10е (%+1). 

№2 #63276 

Решите неравенство 

logys ((# — 4) (12 — да — 8)) + 1 2 0,510в5 (т — 4)?. 

№3 -#63279 

Решите неравенство 
log, 22 — ов @? 
— 0 

log? (222 — 5z + 12,5) + 1 ^ 

№4 63275 
Решите неравенство 

(logda5(x + 3) — log, (v + 6z + 9) + 1) - log,(x + 2) < 0. 

№5 257006 

Решите неравенство 

292 44727420 
Э— 4' 3207432 

№6 -=65016 

Решите неравенство 
logg x 4 8 83 > 

№7 #1821 

Решите неравенство 

@-1)° 
22° 

9107(2° + х — 2) < 10 + log; 

Ne8 -=516 

Решите неравенство 

№9 #4523 

Решите неравенство 
log, 227! - log, 222 < 

logy, 2 - logy, = ® 
№10 473463 
Решите неравенство 

9108(4 — z)" + 5 logy5(4 — x)° < 56. 

Nell /73464 

Решите неравенство 

g2 lal . 53 < 1, 

1



№12 #44952 

Решите неравенство 

№13 473465 

Решите неравенство 

№14 15711 

Решите неравенство 

№15 44615 

Решите неравенство 

№16 44956 

Решите неравенство 

№17 873 

Решите неравенство 

№18 17246 

Решите неравенство 

№19 15708 

Решите неравенство 

№20 2422 

Решите неравенство 

108е 00 (h)g% (zz — 2)) < 0. 

16 — 3° > 

logj(z + 1,5) -4 ^ 

м818 < (а? — 1)®?, 

2 
254378 — 133 107 + 4. 517 < 0. 

@?10водз(—2 — 3) 2 logy (zz + ба +9). 

(4#_@_6 _ 1) logy 55 (4z2+2z+z — 3) <o 

35 
22 > log, (Ё 6Tl 2. 92*%) . 

1 
\/# — 5’10%0‚5(10%2 [1 - 2|) 20. 

1 ) log, 5(22+3) 
308:(@%) 4 9. |08 < 3. (‚ 

3



н 

10. 

Ответы 

(4‹5; _Ы U (0; +00) 

[--1,96; 4) U (4; +00) 

[~1;0)U (0 1] 

(=2 -1 u{1} 

(—00: 0] U ов 3; 2) U (2; 3) 

(0:1) U {9} U (27; +ос) 

[-9; -2) U (1;5] 

(0.1;0,5] 

L 
72 

[-8V2+4;3,5] U [4.5;8V2 + 4] 

(0:05)U <0,5; ) U (V2:V2) U (/2; +ос) 19. 

20. 

—0 
(—o00; —1] U [2; +ос) 

(—оо; —4] U [-V/10; —З 

З10в 5 — 55 —3logg5 

2 й 2 

(-у3; —1,5] U [1,5; З) 

| 

. (—o0; —2] Ч {-1} U [3;+00) 

. (—оо; - [Z:IDgz i35 

[_%;0) Ч (2;3] 

[-1;0) U (0;3] 

)


